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	Evidence (this is the math I did to solve the problem):













	Reasoning (this is my claim and a brief written explanation to support it):
___________________________________
___________________________________
___________________________________
___________________________________
___________________________________
___________________________________
___________________________________



Brief Argument 

Fiona's mother bought grinders to have at her birthday party. There were 21 children at the party altogether. 9 kids sat at one table and shared six 12 inch long grinders. 12 kids sat at another table and shared nine 12 inch long grinders. 

All of the grinders were eaten with no leftovers. George, one of the children the party, privately complained that not all of the children got the same amount to eat. Do you agree or disagree with George?

Explain your reasoning.

